                                     HUMAN SETTLEMENT
               CHOOSE   THE CORRECT   OPTION
1. What is the lower limit of the population size to be an urban area in Japan?
a) 10,000
b) 25,000
c) 30,000
2. What type of settlement appear along the road and railway lines?
a) Circular
b) Linear
c) Cross shaped
3. Johannesburg in Africa is an example of 
a) Lumbering town
b) Garrison town
c) Mining town
4. In which year Canberra was designed as garden city?
a) 1905
b) 1912
c) 1915
5. Which of the following term means ‘great city’?
a) Million city
b) Conurbation
c) Megalopolis
       SHORT ANSWER TYPE QUESTIONS

Q1. Mention any three characteristics of rural settlements of the         world? 
[bookmark: _GoBack]Q2. Towns and cities of developed and developing countries reflect marked differences in planning and development. How?
   





